a>b>1%1 45 a, bl tiste] o5 5 4 BAE vr=A Uerd

A2

1 a
7>7
®a b ®1—a>
a
-1<b-1 —_— < —
@ a < ®1—|—a<1+b

® a+3<b+3

b
1-b






2x—1>-3 _
3. agwsa{” o] ahg Fowl?
x+3>3x-1
D 1<x<?2 @ 1<x<?2 ® x>2

@ -1<x<2 ® -1<x<2



F

O

Fex 9 @ 3 7

Z =]
=l
___'O

gk

x4+ 7T<x+11<10S

® 2

1



5.

& AYREAL WIS B4 A% 10 AL W, 4 a o

2k Faofet,
Tx+4>5x
15—-x>a

@ 3,4 @ 5,6 ® 6 @ 6,7 ® 4,5,6



3x—1>x+3

o a7t ghem, a o grol B 5

o]
AR

LSS
R



7. oWl 523w o7 s w32 Wrh 2, o] S0l 4 55 w1 6
Wl 517 24 BTk ATk Gt olw 40 M9lE £& AL

37 4
®8<x<§ ®8<x<§O @9<x<%7

4
@9<x<?0 @9<x<43—3



F5A k-1 <2& EW?

D -1<x<0 @ -1<x<3
® 1<x<3 @ x<-1E=x>3

1
@ §<x<1



9. RS -2+ lx+ 3= 20499

®

D x=>2 -3<x<?2 @ 1<x<2

@ x<2 ® a7t At



@ x<1EE=x>2



11.

OJAHF-SA 2% +2x - 35 < 0= EWY?

@ -15<x<12 @ -15<x<5

@ -7<x<?2 ® -5<x<7



